(@%IE Runlog 2206Kr_220704.xIsx1_RunlLog

I I [ I
2206Kr 84Kr31+ 70MeV,/u AVF. 18G max 1pnA
Run Summary Sheet : CAMAC & LabView
[ | | | | [ | Att PL2
| [Fname | start | stop |Header Ender / L{_Elapse AUk 100105 [3 2| Trie |Wob |AuF |[Kap |IC1 [PL1 [ED [IC2 |Airl |Air2
SEERRAT LogNote: E5exp(9)_ SSD
22/06/27
bef- 1] 23:30:18| 23:49:47 p.110 0:19:29 |SSDnew:Kr Gain
sA1:300u A2:700u, B1:150u, B2:1000u
SRERh : Beam IR BB
22/06/28 ZnSARY MR 2 p.A11
Cap 1] 6:25:00 Cap01_ZnS Zsld mpg ol 2[ o[ 1] 1 50u® 50 145] 200
2 Cap02_&{ZnS WobR36 mpg o[ 2[ o[ o] 1
3 Cap03_Au45IN mpg
4 Cap04 Au45WobR36 mpg ol 1] o[ 1] 1
BeamTansportE iR & 0] o] o] 1] 1|FC5A1=8enA D50=26enA BYEF
5 Gap05 Gaf01 mpg I I I
6 GCap06_Gaf02 mpg I I I
| |MaxBeam 0| 0| O] 1| 1|FC5AI=16enA D50=16enA /OK
Gafffi = Gaf: EBT3 [185x85mm @ Ysld p.111 1C2[A]
Att vs IC2@Air2 1.1-8A ol 4 o[ ol 1 X |x_|0u_[1C2@Xclmt
| |Gaf 1] 7:38:00 Au 45.8u, R=0 35sec
2 AL 960u, R=0 35s
3 AL 386u, R=0 30s
4 AL 50u, R=0 12s
5 Au 45.8u, R=32(test) 35s
6| 8:04:00 Au 45.8u, R=34(test) 35s
PL HV: F AT p112 PL1=PL2=1.1keps| 2| 2| 0| 0| 1|PorS(0)[R36 |458|/O |O | 100|0u |PL2@Ar2
plhv01- 1] 8:32:00| 8:32:26|plhv01-01 100u#1new 700V 100u#2new 900V 0:00:26 |PL1=100u#1(new) PL2=100u#2(new)
2| 8:32.59| 8:33:29|plhv01-02 800,1000V 0:00:30
3| 8:34:02| 8:34:38|plhv01-03 900, 1100V 0:00:36
4| 8:35:44] 8:36:31|plhv01-04 1000, 1200V 0:00:47
[EF:EE p.112
8:37:00] Thr PL1=309. low=2500mV
scnEDic: ExpR FESR
scnEDic01 202206280855 [30s/5 x 538 —> 50MET p.113 IC1~IC2=7-8A] 1| 1] 0[ 0] 0 O |O O |O |O |var [IC2@Air2
[ 8:55:00] 9:31:00] 0:36:00|ExpR= 1058um PL2@IC2 T
scnAtt: IC1 vs PL1
scnAtt01 202206280941 .113 11 o[ o[ 1]~ O |0 O [0 O Jou
9:41:00| 9:58:00|Step = 1/2, /4. /6. /8. /10 0:17:00 113 0[o[1
scnAtt01- PLIcps]= 3.854E+13*IC1[A], SEifll/F18=0.88
1] 9:42:00] 9:42:29[scanAtt001 Mul 2000 0:00:29]1/f=1/999D T X (FENTEE NI
2| 9:43:00] 9:43:29|scanAtt002 Mul 4000 0:00:29
22| 9:58:28] 9:58:57|scanAtt022 Mul 400000 0:00:29
BEETEIA - pIHVaft, newSSD EBIE —=> skip
22/06/28 10:00 E—LWEBET [
11:30 R T \
22/06/28 11:40 (NHO1-1)F AR Z—h p.113
22/06/28 23:35 FIART
22/06/29 0:20 | BT \
REh: Gro) B
22/06/29 PL HV RS T#1] p.124 PLIO#| 2| 2| 0] 0] 1[Pors@|O O |O |0 |O Jou |X
plhv02- 1] 2:18:36] 2:19:36]plhv02-01 aft NHO1 100u#1 700V 0:01:00
~ RO3(&. PL1HV= 800->900V [CZEE
4] 2:22:27| 2:23:38|plhv02-04 1000V 0:01:11|PL1low= 2.525 —> 4.57/2=2.20V |2 ¥ &
22/06/29 3:00 (RO3-NFIARE—F 0.124
22/06/29 14:55 FIF#ET
15:30 R+ T \
FIR#ETE
22/06/29 PL HV R #2] p.125 PLID#| 2| 2| 0] 0] 1[Pors@|O O |O |O |O Jou |X
plhv03— 1] 15:48:03] 15:48:33[plhv03-01 aft RO3 PL100u#1 700V 0:00:30
~ FIEDLLY
4| 15:52:08] 15:53:31|plhv03—-04 1000V 0:01:23
scnEDssd: newSSD calibF
scnEDssd01 202206291607 p.125 sA1:300um A2:700, B1:150, B2:1000um
I 16:07:00| 16:19:00(30s/ /= 0:12:00] PL 10K, Sor 500cps, Trig=ORR:Z| 2| 1] 0] 0] 1[PorS [O |O |O |O [O |var |SSD@Air2
scnEDssd01—
1] 16:07:59] 16:08:29|scanED001 0.0 um 0:00:30| 73 7rig=OR /=27/=
16| 16:18:57| 16:19:08 |scanED016 724.8 um 0:00:11
scnEDssd02 202206291637 0.126 JAE T. Argain, Trie=AND =9 &
I 16:37:00] 17:06:00(30s/m 0:29:00 PL 10K, Sor 500cps, Trig=AND| 2| 1| 0] 0] 1|PandS |[O |O |O |O |O |var [SSD@Air2
senEDssd02— [AIFE A%, : ADCgate=20->25umIZE&E
1| 16:37:55| 16:38:25|scanED001 0.0 um 0:00:30 I
~ ?5A1,sB1 [Z2/% ? Tssd= Double pulse /=2/=D5% ?
39] 17:05:44] 17:06:17|scanED039 1000.4 um 0:00:33 [ T T
scnEDssd03 202206291725 0.126 SA1:25mm2~15um A2:25~100, B1:20, B2:2000um
I 17:25:00| 17:28:00(30s/ 0:03:00 FE|] 2| 1] 0/ 0] 1{PandS |O |O |O |O |O |var |SSD@Air2
scnEDssd03—
1] 17:25:52| 17:26:25|scanED001 0.0 um 0:00:33
~ Y’ X Ar-gainTEIET &, AttZEEL /=(see LogNote,
4| 17:28:06| 17:28:37|scanED004 148.8 um 0:00:31
scnEDssd04 202206291733 0.126 LT AEELS-
I 17:33:00| 18:01:00(30s/ /= 0:28:00 FE|] 2| 1] 0/ 0] 1{PandS |O |O |O |O |O |var |SSD@Air2
scnEDssd04—
1] 17:33:24| 17:33:57 |scanEDO01 0.0 um 0:00:33
~ ?sAl,sB1 [Z2/% ? Tssd= Double pulse /=2/=D5% ?
39| 18:01:18| 18:01:49|scanED039 1000.4 um 0:00:31
22/06/29 18:01 MT# T
1800  21:30 E5A->E3A Beam[L I3 TR M
IEFRERE: 22X, /MU
22/06/28 10:33:00 E(Kr) = 69.60 MeV/u p.115 F AR
22£06/29 13:56:00 E(Kr) = 70.23 MeV/u p.129 FA+ RRCERHLIAESR
LLE,

1/1R=2




